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FINANCIAL ACCOUNTING — GENERAL
Paper : CC-1.1 Cg
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.

NSFHAS el AT T
Aot - =

s FoEEE FemMieies «ae Aledlfefas samfed W ofdmaf el

R

[ULEIA
Bl @R (TP 7o) ¢ T
() AR 4l .
(%) foroeE
(51) TEATPRGE FAFI |

ﬁmmﬁ:ﬁw@mmm@ﬂmmmmm\
(i) Second hand car purchased for ¥ 2,00,000

(ii) Depreciation on machinery ¥ 10,000
(iii) T 5,000 paid as wages in connection with the creation of a new machine

(iv) % 1,00,000 paid for increasing the sitting capacity of a theatre hall
(v) Salesman commission paid ¥ 2,000

AL/

famaeia efge FrarkE | g 15.04.2022 wifata 30,000
et 1st April (2T 15th April, 2022 ©IfRTaa W A

Mr. K. Roy 31.03.2022 OIS RSIE] B YT TGS
2sifoe TRl ¢

oATeff3 o1 91 2T | RIS @I
__ Sales amounted to X 81,000

__ Sales Return ¥ 1,000

__ Rate on gross profit on sales 25%

__ Purchases during the period Z 40,000
@

Determine the value of closing stock as on 31.03.2022.
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@! M/s Thakur & Co. Sj<>1d <feqM FAEd *Fafere A1 01.01.2021 SIffT Debtors-93 (&1 (Dr.) oz

€

¥40,000 | 2021 ATFR @S FEHa €
Z T
Cash received from customers 75,000 | Total sales 1,50,000
Discount Allowed 4,000 | Cash Sales 20,000
Bad debts 5,000 | Bills Receivable drawn 20,000
Return Inward 5,500 | Bills Receivable dishonoured 4,000
Interest charged to customers 500 | Transfer to Creditors Ledger 7,500
M/s Thakur & Co.-47 F4rae «fearta Sales Ledger Adjustment Account &S Il ¢
e/
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o1 01.01.202] ST Machinery Account83 (8 221 T 2,00,000 (23S T T 2,50,000) 1 01.07.2021 I

4% T$7 Machine ¥ 50,000 BIPT8 &4 31 ZCATZ | 01.01.2019 ST & 71 ZCACR AT @36 Machine

T 24,000 B 30.06.2021 @it e F91 24 (IF 4TS TV f&et 01.01.2019 @IfFTd T 50,000) |
Machinery-3 ©#3 *@341 10 oI 2T AT afors S5y 4 T4 27 |

2021 AR G QI MachineryAceomzwﬁmumﬁexﬁﬁ@mmm g 27 |
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a1 31.12.2021 SIRT 1% ITA Mr. Souvik-a3 AR 3R At fAfafie STz ANl (9= 8

01.01.2021 31.12.2021

4 4

Stock 30,000 ?
Debtors 80,000 1,25,000
40,000 80,000

Creditors
(i) During the year, he paid his creditors Z 1,20,000 and received from debtors ¥ 1,80,000.

(i) Bad debts written off ¥ 5,000.
(iii) Discount received from creditors ¥ 2,000.
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(iv) Cash sales are 20% of total sales.

(v) Credit purchases are 75% of total purchases.

(vi) Rate of gross profit 20% of sales.

ey TS 20 ¢ (a) GG AR, (b) (R T @R (c) 31.12.2021 ifzcd oI ES 24 | ©+9+8
a4,

Pragya Paramita Medical Aid-4% 31.03.2022 @I W% 920ad TS Receipts and Payments Account

@@ 31.03.2022 SIfT 3WI% I=CTE T+ Income and Expenditure Account &S FC | so

Receipts and Payments Account for the year ended 31.03.2022

Receipts Amount (%) | Payments Amount (%)
To Balance as on 01.04.2021 14,000 | By Payment of Medicine 60,000
To Subscription 1,00,000 | By Honorarium to Doctors 20,000
To Donation 29,000 | By Salaries 55,000
To Interest on Investment@7% p.a. 14,000 | By Sundry Expenses 1,000
To Proceeds from Charity Show 20,000 | By Equipment purchased 30,000
By Charity Show expenses 2,000

By Balance as on 31.03.2022 9,000

1,77,000 1,77,000

Additional Information :

01.04.2021 31.03.2022
Subscription Due 1,000 2,000
Subscription received in advance 2,000 1,000
Stock of Medicines 20,000 30,000
Amount due to Medicine Suppliers 16,000 24,000
Equipment 42,000 60,000
Buildings 80,000 76,000

v| H. Poirot Ltd. «3 @35 12,60,000 B! [T ‘Loss of Profit’ T I | ‘Period of indemnity” 2 o ST 1
310 S5 2022 oIfFT G ST Rafde 27 | NTare sl sfhedt (ot &
Sales : for the year ended 31st December, 2021 T 42,00,000

for the period from 01.04.2021 to 31.03.2022 T 48,00,000

for the period from 01.04.2021 to 30.06.2021 Z 10,80,000

for the period from 01.04.2022 to 30.06.2022 L4 72,000
Standing Charges for 2021 Z  9,60,000
Profit for 2021 Z  3,00,000
Saving in standing charges because of fire 4 30,000
4 60,000

Additional expenses to reduce loss of turnover
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&1 Goa-¥ Holmes, Bangalore-49 Byomkesh ,
Tafe ceoigTeR 3@ Holmes SIS JapefE FCACE
Z 19,380, Freight = ¥ 3,500

Carriage — ¥ 2,120, Insurance — | th hines were yet to b
_ . oy r mac €t to :
ed in transit and three othe € recej
damag a proﬁt of Z 1,500 each and charged a commissionvsgs
0
%

Two machines were totally .
Byomkesh. The latter sold 30 machmes'at

on sales. He paid the following expenses

Unloading charges — ¥ 3,000, Warehouse rent

Holmes-43 I30® Consignment Account IS | .
faer - ot

a7 e @eRe (A 31.12.2021 IfNTY 71 TRC & 9 Trading

Yo | M/s Sriram Traders
Profit & Loss Account 938 O wifat2 Wt Balance Sheet g A | .

— T 4,000, Salesman’s salary — ¥ 5,000.

Trial Balance as at 31st March, 2021

Debit Balances ’ 4 Credit Balances z
Bad Debts 7,000 | Sales 1,32,000
Stock-in-trade (on 01.04.2020) 10,000 | Capital 1,00,000
Furniture 30,000 | Discount 1,000
Drawings 7,000 | Creditors 18,500
Purchases 60,000 | Bills Payable 5,000
Debtors ' 20,000 | Outstanding Salary 500
Interest on loan 1,000 | 12% Bank Loan 10,000
Insurance Premium 1,600 | Interest on Investments 4,000
Wages 3,600
Rent 3,000
Salaries 4,800
Investment in 10% Bond 50,000
Cash at bank 20,000
Machinery 50,000
Advertisement 3,000

2,71,000 2,71,000

Adjustments :

(i) e Tgosiefy ¢ @ - T 16,000; D - X 15,000

(i) TEATET T2 10% *FO1 2T 4R SPTRITHATIR BoA7 15 =1@1et FT S53 41 T |

(iii) 5,000 BrFr 4109 e f2ofitag 930w Biferg a1 =0 |

(iv) sz,ooommﬁm@wﬁwmm @It =3 |

(\'/) wwa:ﬁﬁm%@wmﬁwwmmmmmn.

(Vi) 7,500 DI o1e) ST si7w 78 273 TR G T =AM 5,000 Browrer Wit egcartver AT
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The figures in the margin indicate full marks.

Group - A

Write down the distinction between Cash Basis and Accrual Basis of Accounting. 5
Or,

Write short notes on (any two) : 2Y2x2

(a) Concept of conservatism

(b) Accounting Cycle

(c) Accounting Equation.

State with reasons whether the following are Capital Expenditure or Revenue Expenditure : 5

(i) Second hand car purchased for ¥ 2,00,000

(i) Depreciation on machinery ¥ 10,000
(iii) ¥ 5,000 paid as wages in connection with the creation of a new machine
(iv) T 1,00,000 paid for increasing the sitting capacity of a theatre hall

(v) Salesman commission paid ¥ 2,000
Or,

Mr. K. Roy prepared his accounts on 31.03.2022. However, stock taking was done on 15.04.2022
amounting to Z 30,000. The following transactions took place between 1st April to 15th April, 2022 :

— Sales amounted to T 81,000

— Sales Return T 1,000

— Rate on gross profit on sales 25%
— Purchases during the period ¥ 40,000

Determine the value of closing stock as on 31.03.2022. 5
. Discuss the procedure for issuing accounting standards in India. 5
2+3

. What is accounting theory? Distinguish between accounting theory and accounting practice.

_ M/s Thakur & Co. maintains his business ledger under Self-balancing Ledger. The balance of
Debtors (Dr.) as on 01.01.2021 is X 40,000. The transactions occurred during the year 2021 are as below :

3 T
Cash received from customers 75,000 | Total sales 1,50,000
Discount Allowed 4,000 | Cash Sales 20,000
(Bad debts 5000 | Bills Receivable drawn 20,000
Return Inward 5,500 | Bills Receivable dishonoured 4,000
Interest charged to customers 500 | Transfer to Creditors Ledger 7,500J
B

ales Ledger Adjustment account in the General Ledger of M/s Thakur & Co.

Prepare S
Please Turn Over



(6)
Or,

[W( 1st Sm.)-Financial Accounting-1-G/CC-1.1 Cg/CBCS l

. . ?

(a) What is average clause in the context of insurance claim for loss of stock?
. 1

(b) How is ‘sale’ different from ‘sale on approval’ transactions? 2Yx+2%,

Group - B

6. On 01.01.2021, the balance in the machinery account is ¥2,00,000 (original cost % 2,50,000).

On 01.07.2021, a new machine was purchased for ¥ 50,000. On 30.06.2021 one machine purche.lsed on

01.01.2019 was sold for € 24,000 (the original cost of which was 50,000 on 01.01.2019). Machinery is

method.
10

depreciated at 10% p.a. under the straight-line
oks are closed on 31st December every year.

Show Machinery Account for 2021. The bo

Or,
What do you mean by ‘provision’? How is it different from ‘reserve’? Mention two examples of
2+6+2

provisions.
7. The following balances are extracted from the books of Mr. Souvik for the year ended 31.12.2021:
01.01.2021 31.12.2021
4 4
Stock 30,000 ?
Debtors 80,000 1,25,000
40,000 80,000

Creditors
(i) During the year, he paid his creditors ¥ 1,20,000 and received from debtors ¥ 1,80,000.

(i) Bad debts written off ¥ 5,000.
(iii) Discount received from creditors T 2,000.
(iv) Cash sales are 20% of total sales.

(v) Credit purchases are 75% of total purchases.

(vi) Rate of gross profit 20% of sales.
Calculate : (a) Total Sales; (b) Total purchases; and (c) Value of closing stock on 31.12.2021.
3+3+4
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Or,
From the following Receipts and Payments Account of Pragya Paramita Medical Aid for the year ended
31.03.2022, prepare Income and Expenditure Account for the year ended 31.03.2022: 10
Receipts and Payments Account for the year ended 31.03.2022
Receipts " [Amount (3) | Payments Amount (%)
| To Balance as on 01.04.2021 14,000 | By Payment of Medicine 60,000
To Subscription 1,00,000 | By Honorarium to Doctors 20,000
To Donation 29,000 | By Salaries —_S—SW
To Interest on Investment@7% p-a. 14,000 | By Sundry Expenses 1,000
To Proceeds from Charity Show 20,000 | By Equipment purchased 30,000
By Charity Show €Xpenses 2,000
- By Balance as on 31.03.2022 9,000
1,77,000 1,77,000
Additional Information :
B 01.04.2021 —31.03.2022_|
Subscription Due 1,000 2,000
Subscription received in advance 2,000 1,000‘4
Stock of Medicines 20,000 30,000
Amount due to Medicine Suppliers 16,000 24,000
—Tiquipment 42,000 60,000
Buildings 80,000 76,000
8. H. Poirot Ltd. has a ‘Loss of Profit’ insurance policy of X 12,60,000. The period of indemnity is three
months. A fire occurred on 31st March, 2022. The following information is available :
Qales : for the year ended 31st December, 2021 Z 42,00,000
for the period from 01.04.2021 to 31.03.2022 Z 48,00,000
for the period from 01.04.2021 to 30.06.2021 Z 10,80,000
for the period from 01.04.2022 to 30.06.2022 9 72,000
Standing Charges for 2021 Z  9,60,000
Profit for 2021 . Z  3,00,000
Saving In standing charges because of fire 4 30,000
educe loss of turnover 4 60,000
10

Additional expenses 10T

Compute the claim to be ma

de on the insurance company.
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9. Holmes of Goa consigned 50 machines costing ¥ 4,000 each to Byo

10.

mkesh of Bangalore. Holmes incurreq

the following expenses in despatching the goods :

Carriage — T 2,120, Insurance — ¥ 19,380, Freight — ¥ 3,500
hree other machines were yet to be received by

Two machines were totally damaged in transit and t e
Z 1,500 each and charged a commission of 59,

Byomkesh. The latter sold 30 machines at a profit of
on sales. He paid the following expenses :

Unloading charges — ¥ 3,000, Warehouse rent — % 4,000, Salesman’s salary — ¥ 5,000.

Show the Consignment Account in the books of Holmes. 10
Group - C
From the following Trial Balance of M/s Sriram Traders, prepare a Trading and Profit & Loss Account
for the year ended 31st March, 2021 and a Balance Sheet as on that date : 15
Trial Balance as at 31st March, 2021
Debit Balances 4 Credit Balances 4
Bad Debts 7,000 | Sales 1,32,000
Stock-in-trade (on 01.04.2020) 10,000 | Capital 1,00,000
Furniture 30,000 | Discount 1,000
Drawings 7,000 | Creditors 18,500
Purchases 60,000 | Bills Payable 5,000
Debtors 20,000 | Outstanding Salary - 500
Interest on loan 1,000 | 12% Bank Loan 10,000
Insurance Premium 1,600 | Interest on Investments 4,000
Wages 3,600
Rent 3,000
Salaries 4,800
Investment in 10% Bond 50,000
Cash at bank 20,000
Machinery 50,000
Advertisement 3,000
2,71,000 2,71,000
Adjustments :

(1) Closing Stock : Cost price ¥ 16,000, market price ¥ 15,000.

(i) Depreciate Machinery @ 10% p.a. and Furniture @ 15% p.a.
(ii) Credit Sales for ¥ 5,000 not recorded in the books.
(iv) Goods taken by proprietor for ¥ 2,000 not recorded in the books.
(v) Interest on loan and on investment to be provided for full year.

(vi) Goods costing ¥ 7,500 destroyed by fire but insurance company admitted claim to the extent of
¥ 5,000 only.
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The figures in the margin indicate full marks.

Group - A

Answer the following questions. 1x10

s always equal to
(B) Marginal Revenue
(D) Minimum Average Vari

1. In a perfectly competitive market the price i

(A) Average Revenue

(C) Both Average and Marginal able Cost.

Revenue
will be

the total revenue curve of a firm
ed straight line through the origin

A) Negatively sloped (B) Positively slop
© Horizontal (D) Vertical.

2. In a perfectly competitive market

ant in the long run time period of production?

7
(A) Marginal Cost (B) Average Variable Cost
(C) Average Cost (D) Total Fixed Cost.

3. Which of these curves is not rele

4. If the absolute value of elasticity of demand for a commodity is unity at every point on the demand
f the demand curve is

curve, then the shape 0
(A) Vertical (B) Horizontal
(D) Rectangular Hyperbola.

(C) U-shape

Please Turn Over
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5. If the equation of the budget line is given by 51 =2x + 5y where x and y arc the units of X and y
consumed respectively, then the slope of the budget line will be

(A) -2/51 : (B) -2/5
(C) -5/51 (D) +5/2.

6. If total revenuc earned by a firm for 40 units of output is T 200, the average revenue of the f{irm :
(A) %20 (B) %80
(©) 25 (D) T 5.

7. Which of the following statements is not true?
(A) Indifference curve slopes dewnward from left to right
(B) Lower indifference curve indicates lower level of satisfaction

(C) Indifference curve is concave to the origin due to diminishing MRS G
(D) Indifference curve is convex to the origin due to diminishing MRS.

8. The vertical distance between total cost and total variable cost curve is
(A) TvC (B) MC
(C) TFC (D) AFC.

9. When average product (AP) of a factor is maximum?
(A) Marginal product (MP) should be equal to Average product (AP)
(B) Marginal product (MP) should be greater than Average product (AP)
(C) Marginal product (MP) should be lesser than Average product (AP)
(D) Marginal product (MP) curve should be negatively sloped.

10. Which one of the following cost curve continuously falls with the increase in output?

(A) AVC B) MC i
(C) AFC (D) AC. , ’S’ |
Group -B ' \

Answer the following questions. 2x15 f‘

1. AB is a straight line demand curve whose point A is on the vertical axis and point B is on the horizontal
axis. The respective price elasticities of demand at A and B are

®B) 1,0

(A) 0,1
(D) Tnfinite, 0.

(C) 0, infinite



: i | (C- 9) ( W(I.s‘l.'S'm.)-Micraeconomic.s’-l-G/
v Whleh ono of the following is not responsible f e
§ responsible for change in d
H emand for a commodity”
y?

(A) An incrense in consumer’s preference fi

o § prelerence for the commodity
, cerease in the commodity’s price
]

(€YY An inerease in consumer’s income

(12)  An inerease in the price of the complementary good

3. C ' ¢ ' it
Condition of consumer's cquilibrium in case of Ordinal utility analysis
(A) Slope of IC = slope of budget linc (B) AL )
MU, Py

(C) MRS = price ratio of two goods (D) All of thesc.

3x + 7y = 85 where x and y are consumption of X and Y
5, what will be the consumption of ¥?

(B) 21
(D) 7.

4. Let the equation of the budget line is
respectively. If the consumption of X is

(A) 10
©) 5

odities 1 and 2 and fixed money income, MU, =17, MU, =10 and

at equilibrium?
B) 17
(D) 42.

5. In an economy with two comm
P, = 71. What will be the value of P,

(A) 30
(C) 28

12 with the marginal products, MPy = 2KL? and

function of the firm Q =K?
here K =5 and L=57

the MRTS ¢ at the point W
(A) 5 (B) 1
(C) 15 D) 25

6. Consider a production
MPy = 2L.K2. What is

is the characteristics of perfect competition?

d sellers selling heterogeneous produ
ct at a uniform price

| 7. Which one of the following
ot at a uniform price

(A) Ithasa large number of buyers an
sellers selling homogeneous produ

(B) It has a large number of buyers and

(C) There is no free entry and exit for al
f buyers and sellers w.

1 the firms
(D) It has a large number 0 here the Government decides the price of the
product.

um can eam
(B) Normal Profit

(D) All of these.

8. In the short run, a competitive firm at equilibri

(A) Supernormal Profit

(C) Loss
Please Turn Over
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9. The price of the product of a firm under
information and find at what output level

Q5 6 7 5 91
TC|14 20 28 38 50 63
B) 7

(D) 9.

Consider the following table and find the value of AFC and MC for 4 units of output

O @] 0 1T 3 5 56|
| TC [240 330 410 g 540 610 690 |

(B) 40, 60
(D) 60, 40. @

(A) 6
(C) 8

10.

(A) 60, 60
(©) 240, 80

11.

(D) 54.
12. Which of these information about expansion path is not true?

(A) All the points on expansion path are producer equilibrium points
(B) Expansion path always starts from the origin

(C) The factor price ratio along the expansion path remains the same
(D) Expansion path may not always start from the origin.

- 13. A firm under perfect competition will only produce if
(A) P = Minimum AVC (B) P > Mininum AVC
(C) P < Minimum AVC (D) P 2 Minimum AVC.

14. The following data are provided for a particular firm under.perfectly competitive market

Q 1 2 3 4 5 6
AVC |20 18 16 18 20 22
AC | 380 198 136 108 192 202

) : . o t
At which output level will the firm have its ‘Shut-down’ and ‘Break-even’ point (assuming an appropriate
whi
price)?
(A) Q=06 and>5 (B) Q=3 and 4

=5 d6.
- (©) Q=4 and 3 D) Q o
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Which of the following statements is not true?

15.

(A) If the demand curve is unit elastic, it should be a rectangular hyperbola

(B) In order to calculate Marginal Rate of Substitution total utility should remain same.

(C) If two goods are substitutes their cross price elasticity of demand is negative

(D) Some inferior goods violate law of demand.




(C-3) [ e
N egrofsy yoirm Ao
fromr- 3x3o
1. 32-fB 32 SD. == 5 o RITefeTe SRR 80 =, v o Tuefa W= TR —
(4) 100 (B) 1005
(C) 200 by 1660

2. UG Swewyy (Lagrange’s Interpolation) =5 == ==
(A) s TS Sy NETTo (Equispaced arguments only)
(B) 419 wramma] sropy SNETTS (Unequispaced arguments only)
(©) (A) 9% (B) Tw3 5B

(D) I3 57

3. 2, aq, 8-a3 R c@fore TS % R, a-9F T @ —
(A) 2 (B) 4
(©) 8 (D) 7

4. RS sSnefg oy it Rpfe zm—

22, 17, 25, 20, 29, 27, 35
(B) 3.5

(D) &IRIGE NI

(A) 25
(C) 4.5

5. aﬁaﬁwwwwfﬂaﬁfmm:wﬁwzﬁﬁﬁﬁ:

Twilight | Charley Chaplin | ===

BetoE ’ Harry Potter | High School Musical
=Tt | 6 9 10 P 3

ToTI ST Ty High School Musical-93 Staif< #iffwi1 53—

(A) 0.3 (B) 0.23

(C) 0.33 (D) 0.8

6. TG JWIF & AM 932 GM =5 25 932 15 | it 1 =TT —
A)9,s (B) 25,5
(C) 40, 45 (D) 45,5

Please Turn Over
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7. @S ST BT prfe
(A) SRrey PRy Ry (B) Famolg
(C)W?Fﬁ*maﬁzmt‘ (D) ﬁm@’aﬂwwi‘mmm
8. &M Gufg cwwmmamﬁﬁww?
(A) IRy (B) mifog
(O) wnerey

(D) & =ik

93, 12 % 48 gy STNGY MG 2
(A) 10 (B) 11 A
©) 12 D) s T

10. aﬁmm—m&m—awmm@nzﬁmﬁw1ow,wmﬁa%@@°‘m’%m—
(A) 37 @32 47

(B) 47 9% 37
(©) 37.5 @3 47.5

(D) AIfE a7
8X¢
et - %
€3 ffda ga e
R RO 1S 54 55 =&
- 60 | RIGHY oG 7797 70 €2
1. aaﬁmﬁawoww@awmm
RCia) IR 77 ¢
(A) 60; 120 (B) 50;100
’ D) @I
(C) 51; 99 (

2. G Oy vzt ¢

45
=g [20]25][30]35] 40
L%"aﬁm(?)lzslzslsz 37 | 43.5 | 5225

- TR ztg—
2 A fe (B) 26.15
(A)2266-2055 (D) 26.35
(©) 26.
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« « ’
Karl Pcarson’s &vg qape (skewness

)-9% AR g

(A) -0.12
(©) —0.17 B) -0.15
' (D) -0.19

4. RS SRl w1, e vods qqe PO T z71
391, 384, 591, 407, 670, 522, 777, 773, 2488. 1490

(A) ST = 630.5; &2 52T = 403; vy voats

= 955.25
(B) 30 = 631.5; &< 54T = 404; w8 vwes = 95725
(C) 3P = 632.5; A FRIF = 405; G& bwels = 956.25
(D) N0 = 632.5; AT 5YLS = 406; GO 5o = 957.25

5. 5f ~RPROIET 05 4.4 @ o 8.24, 7 1, 2, 6 oAH ARFRUE T = O =47 1267 T 2

(A) 4 @R 9 (B) 54311
(©) 6 W3R 12 (D) 7 @32 13
[English Version]

The figures in the margin indicate full marks.

Group - A 2x10

1. The S.D. of 32 numbers is 5. If the sum of the numbers be 80, then the sum of the squares of the
numbers is—

(A) 100 (B) 1005
(C) 200 (D) 1000

2. Lagrange’s Interpolation formula deals with—
(A) Equispaced arguments only (B) Unequispaced arguments only
(C) Both (A) and (B) are correct (D) None of these.

Please Turn Ove!
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3. If the harmonj
’ m o 2
Onic mean of 2, a, 8 be —7i then the value of a is—
(A)2 & &
(© 8 o) 7

4. T . L.
he quartile deviation of the following numbers :

22,17, 25, 20, 29, 27, 35
o e
(A) 25 (B) 3.5
(C) 45 (D) None of these.
5. 30 students in a class did a survey of their favourite movie series and recorded the results as follows : %
l Movie series | Harry Potter | High School Musical | Twilight | Charley Chaplin \Othcrs\
I Frequency 6 9 10 2 EER
Then the relative frequency for High School Musical is—
(A) 0.3 (B) 0.23
6. The AM and GM of two numbers are 25 and 15 respectively. The two numbers are—
(A) 9, 5 (B) 25,5
(C) 40, 45 (D) 45,5

7. Which one is the source of primary data?
(B) Newspaper

(A) The Statistical Abstract of India
(D) Reserve Bank of India Bulletin.

(C) Report of enquiry commission
8. From which diagram median can be calculated?
(A) Bar diagram (B) Line diagram
(C) Histogram (D) Ogive.
9. The Geometric Mean of 3, 12 and 48 is—
B) 1
(D) None of these.

(A) 10
©) 12
10. The mid value of a class interval is 42. If the class size is 10, then the upper and lower limit of the
class are—
(A) 37 and 47 (B) 47 and 37
(D) None of these.

(C) 37.5 and 47.5

et int g g A gt A7 TG O
TITER A Sl b B 47 sin 2 b K BN



(C-7)

Group -
Lo The wmean number of 150 students £
\ 3 . N N \,‘
of temale student s 35, The b
Ny

(A\) o0: 120

Q class s 00, The
of male ¢

(B) 350; 10
© s Q; 100
(D) None of these.

2. latormation of a data is given by -

Age tn vear

The premium payable at the age of 22 years is
(A) 26.03 (B) 26.15

(7]
.

For the following distribution :

3
]

Class ~interval | 10-20 | 20-30 | 30-40 | 40-50|
LFrequency 8 4 | 16 | 17 |

The value of Karl Pearson’s measure of skewness is—
(A) —-0.12 (B) -0.13
(C) —-0.17 (D) -0.19

4. The value of Median, Ist Quartile and 3rd Quartile of the following series are :

391, 384, 591, 407, 670, 522, 777, 773, 2488, 1490

(A) Median = 630.5; Q1 = 403; Q3 = 955.25
(B) Median = 631.5; Q1 = 404; Q3 = 957.25
(C) Median = 632.5; Q1 = 405; Q3 = 956.25

(D) Median = 630.5; Q1 = 406; Q3 = 957.25

5. The mean of 5 observations is 4.4 and the variance is 8.24. If three of the 5 observations are 1,2
and 6 find the other two.
(A) 4 and 9
(C) 6 and 12

(B) 5and 11
(D) 7 and 13
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FINANCIAL ACCOUNTING -1 — HONOURS
Paper : CC-1.1 Ch.
Full Marks : 80

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.

Group - A

1. What is Asset? Using the accounting equation, calculate the value of total assets from the following

data :
Capital T 2,00,000
Creditors T 50,000
Revenue during the period T 4,50,000
Expenses during the period T 1,65,000 2+3

Or,

State the name of accounting concepts or conventions applied in each of the following cases :
(a) Recording of capital withdrawn by the owner of the business.

(b) Deduction of cost of goods sold from the revenue earned while calculating gross profit of the
business.

(c) Creation of provision for bad debt on outstanding closing debtors.
’ (d) Liabilities are classified into current liabilities and non-current liabilities.
(e) Contingent liabilities are shown in the Balance Sheet as a footnote. 5
2. The value of physical stock was verified on 04.04.2022 at ¥ 85,000. Determine the value of closing

stock as on 31.03.2022 for Balance Sheet purpose given that the following transactions took place
between 01.04.2022 to 04.04.2022 :

(a) Purchase between 01.04.2022 to 04.04.2022 amounted to ¥ 2,500, but of these, goods worth
T 400 was not received till 04.04.2022.

(b) Sales between 01.04.2022 to 04.04.2022 amounted to ¥ 8,000.
(c) Arithmetical error in stock sheet on 04.04.2022 resulted in an overvaluation of ¥ 700.
(d) Rate of gross profit is 25% on sales. 5

Please Turn Over
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Or,

The following errors were detected after preparing the Trial Balance but before preparation of Final
Account in the books of Mr. Basu :

(a) The total of Return Inward Books has been cast ¥ 1,000 short.

(b) A sum of ¥ 4,000 written off from machinery has not been posted to Depreciation Account.

(c) The purchase of an office furniture costing ¥ 13,000 has been passed through Purchase Day Book.

(d) % 600 received from Mr. Roy has been debited to Mr. Sen.

Show the journal entries for rectifying the above errors. 5

3. What is accounting theory? State its relationship with the accounting practice. 243

4. State the limitations of ‘Historical Cost Accounting’. 5
Or,

What are the benefits of ‘Accounting Standard’? 5

S. M/s Prajapati Traders sends goods to its customer on sale or return basis. The following transactions
took place in January to December 2022.

Date Transactions Z
10.07.2022 | Sent goods to customer on sale or return basis at 20% profit on sale 40,000
15.07.2022 | Goods returned by the customer 10,000
04.08.2022 | Received letter of approval from the customer 20,000
31.12.2022 | Goods with customer awaiting approval 10,000

Pass the necessary journal entries to record the above transaction in the books of M/s Prajapati Traders.
5

Group - B

6. XYZ Ltd. depreciates its machinery at 10% p.a. under the reducing balance method. On 01.01.2022. it
had ¥ 4,05,000 as balance of its Machinery Account. On 31.03.2022, it sold for ¥ 17,000, part of the
machine which it purchased on 01.01.2020 at ¥ 30,000. On 01.07.2022, it purchased a,new’ machine at
a cost of ¥ 46,500 and installed it on the same day at a further cost of ¥ 3,500. The company’s policy is
to charge depreciation proportionate to actual use during a year made of an asset but to ignore depreciation

for any period less than 182 days. If no further purchase/sale has been made between 2020 and 2022

except those mentioned above, show the Machiner Account in t
01.01.2020 and 31.12.2022. d in the books of the company between

10
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7. The following is the Receipt and Payment of Anandadhara Cultural Club for the year ended on
31.12.2022.

Particulars k¢ Particulars 4
Cash in hand on 01.01.2022 1,500 | Stationcry 3,000
Subscription : Salarics 7,900
2022 16,400 | 10% Investment
2023 250 | (Purchased on 30.06.22 5,000
Proceeds from cultural programme| 2,000 | Office Expenses 1,420
Entrance fees 1,020 | Expenses for cultural programme 800
Interest on investment 250 | Cash in hand on 31.12.2022 3,300
21,420 21,420
Additional information :
(a) Depreciate premises by 5%
(b) Outstanding subscription for 2022 : ¥ 1,200
(c) Entrance fees is to be capitalised 100%
(d) Other information :
01.01.2022 ) 31.12.2022 })
Premises 20,000 20,000
Stock of stationery 1,000 1,200
Creditors for stationery 2,000 2,500

You are required to prepare Income and Expenditure Account for the year ended 2022 and Balance
Sheet as on that date. 6+4

Or,

Mr. Roy does not maintain a proper books of account. However, he maintains a record of his bank
transactions and is also to give the following information from which you are requested to prepare his
Trading and Profit & Loss Account for the year ended 31.12.2022 and Balance Sheet as on that date.

Particulars 01.01.2022 31.12.2022
) ()
Debtors 1,02,500 ?
Creditors ? 46,000
Stock 50,000 62,500
Bank Balance ? 50,000
Fixed Assets 7,500 9,000

Please Turn Over
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Details of his bank transactions were as follows :

Particulars 3’40‘:.00
Received from Debtors 5;000
Additional Capital brought in i
Sale of Fixed Assets (Book Value T 2,500) ., SO’OOO
Paid to creditors ‘-’49’250
Expenses Paid ,)5’000
Personal Drawings -
Purchase of Fixed Assets 25000
No cash transactions took place during the year. Goods are sold at cost plus 25%. Cost of goods sold
was ¥ 2,60,000. 10

Goods at an invoice value of ¥ 1,32,000 were consigned by Roy & Co. of Allahabad at a proforma
invoice of 20% profit on cost to their agent Gupta & Co. of Calcutta.

Freight paid by the consignor amounted to % 5,000. Gupta & Co. was allowed 5% ordinary commission
and 3% del credere commission on gross sales. They were also allowed 5% of the net profits as extra
commission after charging such commission. Expenses made by Gupta & Co. were : landing and clearing
charges ¥ 1,020, Godown insurance premium ¥ 2,500.

%th of the goods were sold at 25% profit on sales, % th of the balance of goods were destroyed by fire
and a claim for ¥ 8,500 was settled by the insurance company.

Prepare Consignment Account in the books of Roy & Co. 10
Or,

From the following particulars, as extracted from the books of a trader, prepare the General Ledger
Adjustment Account as it would appear in the Sales Ledger on 31.12.2022 :

Particulars z
January 01, 2022
Sales Ledger Balances (Dr.) 62,710
Provision for Doubtful Debt 1,720
December 31, 2022
Sales 1,08,290
Bills accepted by Debtors 14,430
Bills dishonoured 540
Cash and Cheque received from customers 88,625
Cheque dishonoured 220
Goods returned by customers 4,710
Transfer from Bought Ledger 780
Bad-debts written off 1,610
Cash discount allowed 2,460
Interest on customers’ overdue account 330
Carriage charged to customers 1,220

Bad-debts previously written off now recovered 850 10

»

')
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9. From the following information, prepare a claim for loss of profit under the consequential loss policy:

01.06.2022

Date of fire
Dislocation period
Policy value

Indemnity period

01.06.2022 to 31.08.2022

¥30,000

6 months

Accounts for the year ended 31.12.2021 disclosed the following :

Turnover in 2021

Net profit in 2021

Standing charges in 2021

Other particulars :

Sales from 01.06.2021 to 31.05.2022
Sales from 01.06.2022 to 31.08.2022
Sales from 01.06.2021 to 31.08.2021

There is a clear upward trend of 10% in the sales as compared to last year.

10. The following Trial Balan

¥ 2,00,000

T 15,000

Z 25,000 (10,000 uninsured)

T 2,40,000
%20,000
¥ 50,000

Group - C

Particulars Dr. ®) Particulars Cr. ®

Plant and Machinery 2,50,000 | Capital 5,00,000
Wages 20,000 | Sundry Creditors 36,000
Salaries 36,000 12% Bank Loan (01.07.2021) 1,50,000
Carriage inward 5,000 | Return 7,000
Carriage outward 8,000 Provision for bad debts 6,000
Buildings 3,00,000 Sales 11,10,000
General Expenses 33,000
Return 7,500
Sundry Debtors 56,000
Stock (01.04.2021) 40,000
Purchases 10,00,000
Bad Debt 3,500
Discount allowed 1,500
Interest on bank loan 8,500
Cash at Bank 35,000
Cash in hand 5,000

18,09,000 18,09,000

10

ce was extracted from the books of Mr. Saptarshi Chakraborty as on 31.03.2022.

Please Turn Over
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Prepare the Trading and Profit & Loss Account for the year ended 31.03.2022 and Balance Sheet as

on that date taking into consideration the following information :

(a) Stock in hand as on 31.03.2022 was: Cost price — ¥ 48,000; Net realisable value — ¥ 46,000.

(b) Depreciate Plant and Machinery at 10% p.a.

(¢) ¥ 5.000 is due from Mr. Tanbir, as customer and at the same time X 8,000 is due to him, as supplier.
Create provision for doubtful debt at 5% on genceral debtors.

(d) Goods distributed as free sample worth Rs. 5,000.

(¢) Cash found short by ¥ 500 at the time of cash counting.

(D A cheque of ¥ 2,000 issued to supplier on 25.03.2022, correctly recorded in the books but not
encashed by the supplier till 31.03.2022. 545+5




